Efficiency vs dr

x 0.1
d
©0.09

—s=— DQM_V0001_R000000001__Global__mkFit_baseline

Ratio
||||||||I|III|

14 —— DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000
10°® 1072 107 1

TP min AR

[ Efficiency vs dr (track,jet) |
§ 0.1
0 0.09
=
o
z 0.08
£20.07
>
20.06
@
o
£ 0.05]
3]
0.04
0.03
0.02
0.0
e

Ratio
N

0.95

-1

1072

=
S
w

1
AR(TP, jét)

Efficiency vs pu

50.02
o
9.018
d.016
(]
®.014
=
%.012
0.0
0.008
0.006F
0.004F
0.002F

Lot o b L b b b e L

Ratio

09024 6 8 10 12 14 16 18 20
Pileup



	Contents
	Page 1


